BHO-4:
da i= 300 a 350 milioni di iterazioni; ds=0.3E10; segue status 350 mil.:

****************************<br />

1=out-software i-esimo<br />
2=i=350000000<br />
3=r0=2.1377846038158E+26<br />
4=r1=2.1377846038158E+26<br />
5=rpunto0= 153996353.00562<br />
6=rpuntol=153996353.00562<br />
7=rduepuntiO=-1.7618737688939E-10<br />
8=fi0= 12.906398384468<br />
9=fi1=12.906398384468<br />
10=fipunto0=4.7429326239889E-27<br />
11=fipunto1=4.7429326239889E-27<br />
12=fiduepuntiO=-6.8331892126916E-45<br />
15=Kk(f(rpunto1)) = 0.85819657979178<br />
*k%chr />
16=time_s=ACC=clock_fisso=8.5166666872467E+17<br />
17=time_t=t0= 198673345470.09<br />
18=time_t=t1=198673345470.09<br />
19=tpunto0=4.1248601414123E-7<br />
20=tpuntol=4.1248601414123E-7<br />
21=tduepuntiO=8.1000994627135E-25<br />
*k%chr />

22=v=153996363.19843<br />

23=v_TG= O<br />
24=v_TOT=153996353.59291<br />
25=fi_gradi= 739.48215614448<br />
26=x0=2.0153866055604E+26<br />
27=y0=7.1297953721834E+25<br />



28=x1=2.0153866103997E+26<br />
29=y1=7.1297953893033E+25<br />
***<br />

36=rgi: = 3.12E+26<br />

****************************<br />



